
2008년 국가직 7급 기출문제해설 – 강수정 선생님 

 

문 1. 밑줄 친 부분에 들어갈 가장 적절한 것은?  

The butler did his best to ___________ someone else in the robbery. 

① implicate ② intricate ③ pilfer ④ summarize 

해설 1. implicate im:in + plic:fold + ate 나쁜 일에 사람을 끌어들여 연루시키다  

: implication은 ‘함의하다’를 뜻하는 imply의 명사형으로 ‘함의’를 뜻하기도 하고, implicate

의 명사형으로 ‘연루’를 뜻하기도 한다. Intricate 복잡한, 뒤얽힌, pilfer 도둑질하다 

 

문 2. 밑줄 친 부분에 공통으로 들어갈 가장 적절한 것은? 

• As a last ___________ you may have to accept their point of view. 

• His punishing work schedule had made him ___________ to drugs. 

① fist ② inert ③ lean ④ resort 

해설 2. 최후의 의지처로서/ 당신은 그들의 관점을 받아들여야 할 것이다.  

: resort to sth은 turn to sth/sb처럼 ‘~에 의지하다’를 뜻한다. 두번째 문장에서 make sb V

의 구조로 사역동사 make의 대상에 대해 설명하는 동사원형을 넣어야 하는데, fist 주먹, 

inert 움직이지 않는, lean 마른, 날씬한; 기대다 등 품사나 의미로 적당하지 않다.  

 

※ 우리말을 영어로 옮긴 것 중 가장 어색한 것을 고르시오. [문 3 ~ 문 4] 

문 3.  

① 우리는 결혼한 지 10년 되었다. 

→ It is 10 years since we got married.  

② 그녀는 분수에 넘치는 생활을 하고 있다. 

→ She is living beyond her means. 

③ 자신의 가정을 사랑하지 않는 사람이 누가 있겠는가? 

→ Who is there but loves his own home? 

④ 이것은 깨지기 쉬우니 깨뜨리지 않도록 조심해라. 

→ Since this is fragile, be careful lest you should not break it.  

해설 3. ① 원래 ‘~한 이래로 얼마간의 시간이 지났다’는 ‘it has been 기간’을 쓰는 것이 

보다 자연스럽지만, ‘10년이다/ ~한 이래로’라는 식으로 단순시제를 쓰는 경우도 있으므로 

틀리다고 할 수는 없다(무척 부자연스럽지만). ② means는 경제적 수단, 즉 재산을 의미하

므로, ‘분수에 넘치는’은 beyond one’s means가 적당하다. ③ but은 부정적 내용을 갖는 문

장에서 ‘~이지 않은’이라는 부정어 역할을 할 수 있다. There is no one but loves peace. 

(평화를 사랑하지 않는 사람은 없다) 등이 그 예이다. 위 문장에서 ‘who is there’는 ‘누가 

있겠는가?’ 즉, 아무도 없다는 부정문을 대신한다. ④ lest는 little-less-least의 less가 that

과 합쳐진 형태로, ‘거의 없음’을 뜻하는 little의 부정의미를 포함하고 있다. 그래서 lest로 



시작하는 절에 not을 중복하지 않는다.  

 

문 4.  

① 어머니는 지갑을 잃어버렸기 때문에 그날 내내 기분이 언짢으셨다. 

→ All that day my mother was out of bad humor as she lost her wallet. 

② 이 책은 지구 온난화의 결과로 일어날 것 같은 기후 변화들에 대해서 주로 다루고 있다. 

→ This book is mainly concerned with climate changes that are likely to take place as a 

result of global warming. 

③ 길모퉁이에 우연히도 경찰관이 있어서, 나는 그에게 길을 물어볼 수 있었다. 

→ There happened to be a policeman on the corner, so I could ask him the way. 

④ 그가 직면한 임무는 그의 선임자가 직면했던 것과 다르지 않다. 

→ The task which confronts him is not different from that which faced his predecessor. 

해설 4. ① out of humor 자체가 ‘불쾌한’을 뜻한다. Out of bad humor는 ‘기분 나쁜 상태에

서 벗어난’을 뜻한다. (out of humor = in a bad mood) ② be concerned with ~에 관계있다, 

be likely toV ~하기 쉽다, as a result of sth ~의 결과로 ③ happen toV 우연히 ~하다 ④ 

that which~ = what, confront = face 직면하다  

 

※ 어법 상 가장 적절한 것을 고르시오. [문 5 ~ 문 6] 

문 5.  

① Do you think who the speaker is? 

② Do you realize how far is it to Hawaii? 

③ I'm having a real problem figuring out that I want. 

④ If he had not died in the war, he would be forty now.  

해설 5. ⓛ 질문의 요점은 who이고, do you think는 질문을 부드럽게하기 위한 부분이어서 

의문사로 의문문을 시작해야한다(Who do you think the speaker is?) ② 의문문을 위해 주어 

앞으로 조동사를 보낸 부분은 do you realize이므로, 의문사 다음에는 주어와 동사 순서로 

말해야 한다(Do you realize how far it is to Hawaii?) ③ figure out의 대상을 명사로 써야 한

다. what I want는 ‘무엇을 내가 원하는지’, that I want는 ‘내가 원하는’이라는 형용사절이므

로, 명사절인 what I want로 바꾼다. ④ if절은 과거와 다른 것을 가정하고, 주절은 now에서 

볼 수 있듯이 현재와 다른 것을 상상하므로 시제가 혼합된 가정법 문장이다.  

 

 

문 6. 

① If a man you met the night before and made the worst impression on you loses no 

time in telephoning you the very next morning, be as busy as possible. 

② When I take into consideration all the factors involved, I have neither the inclination 



nor the insensitivity to interfere. 

③ There are usually more men in your life whom you would like to get rid of as those 

whom you are dying to meet. 

④ If you don't mind impolite, you can even say that you have to write a letter or take 

the dog for a walk. 

해설 6. ⓛ if 다음의 주어 a man을 수식하는 두개의 절이 and로 연결되어있다. whom you 

met the night before와 who made the worst impression on you 중에 종속절을 시작하는 접

속사 whom은 생략해도 되지만, 주격관계대명사 who를 생략하면, made의 주어가 a man이

며, a man made the worst impression이 if 다음에 이어지는 주절로 보이기 때문에 who를 

생략할 수 없다. ② take into consideration 고려하다, neither A nor B A도 B도 아닌 ③ 

more 뒤에 as를 써서 비교대상을 소개할 수 없다. ④ mind는 ‘~을 꺼리다’라는 동사로 명

사를 뒤에 써서 무엇을 꺼리는지 밝혀야 한다. mind의 대상이 impolite라는 형용사일 수 없

으므로 being impolite로 바꾼다.  

 

※ 어법 상 가장 어색한 것을 고르시오. [문 7 ~ 문 8] 

문 7. 

① Who that is rich could do such a stingy thing? 

② Every person at the meeting is fond of the idea. 

③ Tom was seen to come out of the room by them. 

④ My husband has been busy to work out his project. 

해설 7. ⓛ 의문사 who를 설명하는 절은 that으로 시작해서 who who~가 반복되지 않도록 

한다. such a adj. 명사 그토록 ~한 것 ② every와 단수명사, be fond of sth ~에 대해 좋아

하다 ③ see를 수동태로 쓰면 주어에 대해 설명하는 동사 come을 원형이 아닌 toV, Ving 

등으로 써야한다. ④ be busy Ving를 써야 ‘바쁘다/ ~하면서’라고 말할 수 있다.  

 

문 8. It seems to me that I can ①hardly pick up a magazine nowadays ②without 

encountering someone's views on our colleges. ③Most of the writer are critical; they 

contend that the colleges are not doing a good job, and they question the value of a 

college education. ④Less often, a champion arises to argue that a college degree is 

worth while. 

해설 8. ⓛ 빈도에 대한 부사 hardly는 첫번째 조동사 뒤에 쓴다. ② without은 전치사이므

로 뒤에 Ving형이 적당하다. ③ Most는 ‘~중에 대부분’인데, of 뒤에 나오는 전체가 한 사

람인 the writer일리 없다. the writers로 고친다. ④ 덜 잦다는 뜻으로 often 앞에 less를 쓴 

것은 적당하다.  

 

※ 밑줄 친 부분과 의미가 가장 가까운 것을 고르시오. [문 9 ~ 문 10] 



문 9. The music industry will gradually abandon the manufacturing of compact disks for 

more lucrative MP3. 

① simple  ② profitable  ③ streamlined  ④ futuristic 

해설 9. lucrative는 빛(lu=light)이 번쩍번쩍 난다는 의미에서 황금이 많이 벌리는, 수익성이 

좋은을 뜻한다.  

 

문 10. As westward expansion continued, the nation's population soared. 

① rose rapidly    ② declined slowly  

③ gradually increased   ④ suddenly decreased 

해설 10. soar는 1, 2년 전에 9급 문제로도 출제되었던 단어로 ‘치솟다’를 뜻한다. 새가 휙 

치솟는 모양을 soar라는 의성어로 표현한 것이다. 본문에 expansion(팽창)을 활용해도 증가

하는 것을 고르게 된다.  

 

※ 다음 글의 주제로 가장 적절한 것을 고르시오. [문 11 ~ 문 12] 

문 11. 

First, in the colonial era, the main goal of education was to train people for religious and 

moral purposes, and to promote good behavior. Later on, reformists such as Horace 

Mann called for public education for all, and professional training for teachers. As 

opposed to educators of the colonial period, later educators wanted this public 

education to be free from religion. Later in the 19th century, John Dewey began 

teaching the theory of 'learning by doing.' Even more importantly, he stressed that 

school was not just a period preparing for life, but was a period of life itself. Lastly, in 

the 20th century, the shift in population from the countryside to the cities made schools 

more concerned with social problems. 

 

① schools in the colonial era 

② the contributions of reformists 

③ changes in educational philosophy  

④ the most effective strategy of education 

해설 11. 첫 문장에서부터 key word를 표시하면, colonial era(시대), goal of education, 

religious and moral, public education, free from religion, John Dewey까지 이어지며, 점차 

변하는 교육의 목표에 대해 이야기한 것이 분명하다.  

 

문 12. 

Agriculture is responsible for providing food for a growing population and as it becomes 

clear that yields cannot continue to rise without limit, the sustainability of agricultural 



practices becomes an increasingly important question. Crop rotation is one of the most 

important management practices in a sustainable agriculture system, both as a means of 

conserving soil and of maintaining its fertility. A well-thought-out crop rotation is 

worth seventy-five percent of everything else that might be done, including fertilization 

and pest control. Crop rotation is by no means confined exclusively to organic farming, 

although much of what is considered in planning a rotation sequence encompasses the 

concerns of the organic farmer. 

 

① crop rotation for sustainable agriculture 

② challenge of organic farming 

③ providing more food for more people 

④ fertilization and pest control for crop rotation 

해설 12. key word는 agriculture, sustainability로 ‘지속가능한 농업’이라는 친환경적 농업방

식에 대한 말이다. ② organic(유기농), ③ more food, ④ fertilization(비료) 등이 틀리다.  

 

문 13. 밑줄 친 부분을 참조할 때 괄호 안에 들어갈 가장 적절한 것은? 

A: Hi, Betty. 

B: Hello, Susan. Long time no see. I heard that you were expecting. Is that true? 

A: Yes, that's true. 

B: Good for you! (                            ) 

A: Around October 15. 

B: Really? That's just around the corner! 

① When is the blessed event? 

② When does the meeting start? 

③ When does your Thanksgiving Day sale end? 

④ When are we supposed to have the next conference? 

해설 13. expect의 대상을 따로 밝히지 않아도 쉽게 알아들을만한 것은 무엇일까? 모든 사

람들이 기대할만한 것, 특히 여성이 반갑게 기대할만한 것은 출산이다. 그래서 I’m 

expecting a baby.라고 하지 않아도 a baby를 기대하는 것으로 알아 듣는 것.  

 

문 14. “우리 둘은 서로 잘 통한다.”를 영어로 표현한 것 중 가장 어색한 것은? 

① We are talking the same language. 

② We are on the identical wavelength. 

③ We seem to be in sync with each other. 

④ We are completely through with each other.  

해설 14. ‘잘 통한다’를 표현하는 유사성과 관련한 표현들이 the same, identical, in sync 등



이다. be through with sb는 ~와 관계가 끝나는 것을 뜻한다.  

 

※ 밑줄 친 부분에 들어갈 가장 적절한 것을 고르시오. [문 15 ~ 문 16] 

문 15. 

The current financial turmoil shows that most Asian economics are like 

___________________, dependent not on their own intrinsic strength but on the wind and 

the string. 

① fearful eagles   ② high flying kites 

③ strong-winged airplanes  ④ automatically-driven rockets 

해설 15. 빈칸에 대한 힌트는 빈칸 앞과 뒤에 있다. 특히 depending on은 on 이하의 내용

에 의존한다는 뜻이므로, 빈칸 뒤의 설명을 읽어서 빈칸에 답을 하자. wind와 string에 의존

하는 것은 eagles, kites, airplanes, rockets 중 무엇인지 답하면, 비록 kite가 무슨 뜻인지 

몰라도 나머지 선택항이 답이 될 수 없다는 것을 알 수 있다.  

 

문 16. 

Unlike ordinary parks, botanical gardens and arboretums are laid out with more than 

just the beauty of the landscape in mind. Although trees and shrubs may be interspersed 

throughout the area to enhance the pleasant surroundings, _____________________. Often 

there are small, special gardens, such as rose gardens, rock gardens, or wildflower 

gardens contained within the larger botanical gardens. Many have sections devoted to 

plants of particular geographic origins, such as a tropical plant section, or an aquatic 

plant section. 

 

① a botanical garden is not always judged by its origin and history 

② plants are usually grouped according to their scientific relationships 

③ many kinds of plants need certain climatic conditions at certain seasons 

④ their maintenance requires good techniques and practices of cultivating plants 

해설 16. key words는 botanical gardens이고, although 절이 시작하는 종속절과 주절 사이

의 역접관계를 잘 살려야 한다. although절은 나무가 throughout the area, pleasant 

surroundings일 수 있다는, 다시 정리하면 ‘정원 여기저기 예쁘게 늘어져 있는 평범한 상황

도 있지만’이라는 내용이므로 주절에는 평범하지 않은 정원의 특징을 말해야 한다. 빈칸 뒤

에 보면 special gardens, rock gardens, wildflower 등이 나오므로 특징에 맞게 분류되어 있

다는 말이 필요하다. ⓛ origin, ③ climatic, ④ techniques 등이 틀린 부분이고, ②의 

grouped가 가장 옳은 부분이다.  

 

※ 다음 글의 내용과 일치하는 것을 고르시오. [문 17 ~ 문 18] 



문 17.  

Afterwards, of course, there were endless discussions about the shooting of the 

elephants. The owner was furious, but he was only an Indian and could do nothing. 

Besides, legally I had done the right thing, for a mad elephant has to be killed, like a 

mad dog, if its owner fails to control it. Among the Europeans opinion was divided. The 

older men said I was right, the younger men said it was a damn shame to shoot an 

elephant for killing a coolie, because an elephant was worth more than any coolie. And 

afterwards I was very glad that the coolie had been killed by the elephant; it put me 

legally in the right and it gave me a sufficient pretext for shooting the elephant. I often 

wondered whether any of the others grasped that I had done it solely to avoid looking 

like a fool. 

 

① It was an Indian who shot the elephant. 

② The writer was angry with the death of the elephant. 

③ The death of the coolie gave the writer a pretext for shooting the elephant. 

④ The younger Europeans were worrying that they couldn't stop the elephant from 

killing the coolie. 

해설 17. 앞 부분에 주제는 shooting of the elephant로 밝혀졌다. 선택항으로 바로 가서 확

인할포인트들을 찾는다. ⓛ Indian, ② angry, ③ coolie, pretext(변명), ④ Europeans, 

worrying(이 선택항에서 코끼리가 the coolie를 죽였다는 것이 확인된다.) 처음에는 단순히 

코끼리 보호운동가들의 글일 수 있다고 생각했는데, 선택항을 읽으며 코끼리가 the coolie를 

죽였고, 그래서 누군가 코끼리를 죽인 상황이라는 구체성이 드러난다. 본문의 두번째 문장

에서 the owner was furious, but he was only an Indian이라는 내용을 보면, ⓛ은 옳고, the 

writer는 코끼리의 죽음에 슬퍼하지 않는다는 것이 다 드러난다. 따라서 답은 ②이다.  

 

문 18.  

Simple playthings like balls, jump ropes, hula hoops and riding toys do more for 

encouraging physical activity than swings, jungle gyms and other stationary playground 

equipment, according to a new report in the January issue of the American Journal of 

Preventive Medicine. Kids were far more likely to be active at centers that scheduled 

more playtime, both inside and outdoors, and offered physical activity training and 

education for staff and students. Children in centers that had more portable playground 

toys and other characteristics showing support for active playtime reported about 80 

more minutes of moderate to vigorous physical activity and 140 fewer minutes of 

sedentary activity each week compared to centers that were viewed as less supportive 

of physical activity. 



① Children benefit from sedentary activity. 

② If you want your child to be more active, try him throwing a ball. 

③ Children were more likely to be active in places with slides and swings. 

④ If you support your child's physical activity, he or she will come to like stationary 

playground equipment. 

해설 18. 앞 부분에 주제는 simple playthings >> swings, jungle gyms로 요약된다. 선택항

을 보자. ⓛ sedentary(앉아서 생활하는 X), ② a ball(simple plaything), ③ slides and 

swings(X), ④ stationary(정적인 X) 

 

문 19. 주어진 문장에 이어질 글의 순서로 가장 적절한 것은? 

Cancer is a group of diseases characterized by the uncontrolled growth and spread of 

abnormal cells. 

 

(가) For certain types of cancers, treatment with chemotherapy and radiation therapy 

may be used instead of or in combination with surgery. New therapies include 

inactivating damaged genes and boosting the immune system's ability to destroy 

cancerous cell. 

(나) The most effective way to lower the number of death, however, is to prevent 

cancer from developing by eating healthy food, exercising regularly, and early 

screening. 

(다) The treatment for cancer usually depends on the stage the disease has reached. 

Surgically removing tumors can be successful if the cancer has not yet spread to the 

vital parts like the lymph nodes. 

① (가)-(나)-(다) ② (가)-(다)-(나) ③ (다)-(가)-(나) ④ (다)-(나)-(가) 

해설 19. 주제는 cancer, uncontrolled growth. (가)와 (다)를 비교하자. (가)는 treatment 

with chemotherapy and radiation이 surgery에 결합될 수 있다고 하는데, (다)는 대체로 수

술로 치료한다고 하므로, 분명히 (다)가 (가)에 앞서 있어야 한다. (가)의 후반부에 new 

therapies들이 소개되고, (나)에는 이러나 저러나 예방이 최고라고 했으므로, (나)는 마무리

에 알맞은 말이다.  

 

문 20. 다음 글의 제목으로 가장 적절한 것은? 

If you ask people what animals they hate or fear most, chances are you will hear the 

following; skunks, bats, snakes and rats. But some of these animals are gaining new 

respect. The skunk is feared by most people because of its awful smell. But recently 

people have begun to rethink their ideas about skunks. “Skunks are very useful 

animals,” says Dr. Briggs. “They catch rats, mice and beetles. They are great for pest 



control.” Many people are also terrified of bats. Lately, however, bats have become 

more popular because they eat mosquitoes. “Bats are an environmentally friendly way 

to get rid of mosquitoes,” says Prof. Austin. 

 

① Environmentally Friendly Ways of Animal Keeping 

② Inviting Animals into a New Perspective 

③ Kinds of the Most Beloved Animals 

④ Getting Rid of Hated Creatures 

해설 20. key words는 fear, but, new respect이다. 즉, 상어처럼 공포의 대상인 동물들을 

새로운 각도(new perspective)에서 보자는 것이 주제이므로 답은 ②이다.  

 

 

 


